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1) Find and equation of the plane containing points (3,-2,4), (-5,6,0) and (1,5,4) (‘:é\‘h
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2) Find the point where the line through (-1, -4, 5) and (3,4,-1) intersects the plane
x+2y-z+ 1 = 0. Include a screen shot of a computer generated graph of the
points, line and plane (rotate to show useful view).

You may use any software you like, but the command on geogebra for a line
containing point (X,y,z) and direction vector (a,b,c) is
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3) Sketch a graph of the following surface in R3.
Name the surface and give pertinent information such as traces.

o Use small grids for traces if needed

e Show scale and label axes.
You must show an accurate elliptical cross section as discussed in 12.6 video 1 @
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(4) Theplane x—z =1 and y+2z =23 intersectinaline. Find a third plane that contains

this line and is perpendicular to the plane x+ y—2z=1 (8 points)

(a rough sketch or computer graph can help you visualize this)
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